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SECTION A 

QUESTION 1: Multiple Choice Questions 

• There are 20 multiple choice questions in this section. Each question carries 3 marks. 
• Answer ALL questions by selecting the letter of the correct answer. 
• Choose the best possible answer for each question, even if you think there is another 

possible answer that is not given. 

1.1 The number of significant figures in 0.010: 
A. is 4 
B. is 3 

C. is 2 
D. is 1 

1.2 Write the following number 0.000004013 using scientific notation. 
A. 4.013 x 10-6 

B. 4.013 
C. 4.013 X 106 

D. 4.01 x 107 

1.3 Do the following calculation and give the answer to the correct number of significant 
figures? 

2.568 X 5.8 
A. 0.36 4.186 
B. 3.6 
C. 3.558 
D. 0.6 

1.4 A toddler with a fever has a temperature of 103° F. What is this temperature reading 
in Celsius? 

A. 39.4° C 
B. 37.1° C 
C. 42.7° C 
D. 35.3° C 
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1.5 List the following ions in order of decreasing ionic radius:N 3-, Na+, F-, Mg2+, 0 2-. 
A. Na+, Mg2+, N3-, 0 2-, F-
B. Mg2+, Na+, F-, 0 2-, N3-

C. F-, 0 2-, N3-, Mg2+, Na+ 
D. Mg2+, Na+, N3-, 0 2-, F-

1.6 Give the full electron configuration of the following element: ca+2. 
A. 1s2 2s2 2p6 3s2 3p64s2 

B. 1s2 2s2 2p6 3s2 3p6 

C. 1s1 2s2 2p6 3s2 3p6 4s1 

D. 1s2 2s2 2p5 3s2 3p6 

1.7 Balance the following equation by providing the missing coefficients: 
_Na2SiO3's) + _HF (aq) H2SiFG (aq) + _NaF(aq) + _H2O(I) 

A. 1, 8, 2, 3 
B. 2, 6, 2, 3 
C. 1, 8, 1, 2 
D. 2, 4, 3, 2 

1.8 How many moles are in 4.6 x 1024 of sulfur atoms? 
A. 2.8 moles 
B. 7.6 moles 
C. 6.7 moles 
D. 76.0 moles 

1.9 How many grams of Na2SO4, are required to make 0.350 L of 0.500 M Na2SO4? 
A. 24.9 g Na2SO4 
B. 23.4 g Na2SO4 
C. 34.9 g Na2SO4 
D. 28.9 g Na2SO4 

1.10 Which of the following is the right combination of oxidation numbers for the 
following compound: Mn2O1. 

A. Mn=+2,O=+7 
B. Mn= +14, 0 = -2 
C. Mn= +7, 0 = -2 
D. Mn= +2, 0 = -7 
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1.11 From the following list select the elements that are metals: 
I. Fe, II. S, Ill. Si, IV. Na, V. U, VI. Hg 

A. 11, 111 
B. I, 111, IV, V, 
C. I, IV, V, VI 
D. Ill, IV, V 

1.12 How many moles are there in 24.0g of C? 
A. 4.1 moles C 
B. 2.0 moles C 
C. 3.2 moles C 
D. 3.4 moles C 

1.13 How many molecules are in 0.63 moles of molecules? 
A. 8.3 x 1021 molecules 
B. 4.1 x 1026 molecules 
C. 3.8 x 1024 molecules 
D. 3.8 x 1023 molecules 

1.14 How many liters are required to make 800ml of a 2.0M H2SO4 solution, starting 
with a 6.0M stock solution? 

A. 26.1 l 
B. 0.62 l 
C. 0.26 l 
D. 12.4 l 

1.15 Which one of the following name-formula combinations is NOT correct? 
A. Mercury (I) nitrate, HgNO3 
B. Calcium phosphate, Ca3(PO4)2 
C. Copper (II) sulfate pentahydrate, CuSQ4·5H2O 
D. Hydrofluoric acid, HF(aq) 

1.16 If 10 ml of 1 M HCI was required to titrate a 20 ml of NaOH solution of 
unknown concentration to its endpoint, what was the concentration of the NaOH? 

A. 0.5 M 
B. 1 M 
C. 1.5 M 
D. 2 M 
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1.17 What is the percentage composition of calcium in calcium hydroxide, Ca(OH)2? 
A. 40% 

B. 43% 

C. 54% 

D. 69% 

E. 74% 

1.18 Which of these would be least soluble in water? 

A. Ethanol (CH3CH2-OH) 

B. Butanol (CH3CH2CH2CH2-OH) 

C. Pentanol (CH3CH2CH2CH2CH2-OH) 

D. Hexanol (CH3CH2CH2CH2CH2CH2-OH) 

E. Octanol (CH3CH2CH2CH2CH2CH2CH2CH2-OH) 

1.19 The alcohol shown below is a: 

(CH3)2CHOH 

A. Primary alcohol 

B. Secondary alcohol 

C. Tertiary alcohol 

D. Allylic alcohol 

1.20 What is the name of the following alkene according to the IUPAC rules? 

CH2-CH3 

CH3 - CH2 -! = CH - CH3 

A. 2-ethyl-3-pentene 

B. 3-ethyl-2-pentene 

C. 3-methyl-2-pentene 

D. 3- pentene -2- ethyl 

END OF SECTION A 
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SECTION B [40] 

QUESTION 2 
2.1 Compute the following and report answers to correct number of significant figures and 
answer should be in scientific notation. [3] 

a) (0.62 +0.532) - 0.5 
b) (3.250 x 102) x (2.30 x 104 ) 

C) 0.000440 X 17.22 + 203,000 

QUESTION 3 
3.1 A student was determining the density of the solid object as shown in the Fig 3.1 below. 

-23.l mL 
18.5 mL + 

Fig 3.1 

a) What is the density of the solid object that is weighed and submerged in water? [4] 
b) Express the density in SI units (kg/m 3) [2] 
c) Express the answer in scientific notation [1] 

QUESTION 4 

4.1 A molecular compound, with a molecular mass of 80.063 g/mol is composed of 40.05% S 
and 59.95% 0, by mass. 

a) What is the molecular formula of this compound? 
b) Give the name ofthe compound. 

QUESTION 5 

5.134.0 g of Aluminium reacts with 39.0 g of chlorine gas to form aluminium chloride. 

[5] 
[2] 

a) Write a balanced equation of this reaction [2] 
b) Determine the limiting reagent [3] 
c) How many grams of aluminium chloride will be produced from 34.0g of aluminium 

and 39.0g of chlorine gas? [5] 
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QUESTION 6 

6.1 For the reaction of aqueous silver nitrate (AgN03) solution and aqueous sodium iodide 
(Nal) solution write the balanced: 

a) Molecular equation of the reaction 
b) The complete ionic equation of the reaction 
c) The net ionic equation of the reaction 

QUESTION 7 

7.1 For each of the following, give the corresponding name or formula 
a) Copper {I) sulphate 
b) Dichlorine heptoxide 
c) Co3(P04)2 
d) P4SG 
e) chromium (VI) oxide 

END OF THE EXAMINATION QUESTIONS 
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